EARAROBEEIERT — 2 N— IBISH —F

20155586H (K) 2E=%15H

) zcoromuns c3 ¥5%—#

‘ [Riz] ¥ ‘ [REBE] — | & (&) 1300M FHE

[A~&E£] 1 7% :100,000  ~ 23%&:25000H  33#&:12,000H  43%:8,000H 53 :5,000 M

& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
N . ZIE :25. -1-1- . — THERE (B
115]6 A ) 4 3 a 1(2_5)0 1-1-1-1 | 39.6 1 ;1:118) et
L:ALNTyTFIE BT VIV A—F fz {=: Nl
3 > 4 | ERER 1:25.8 2-2-2-2 [40.2| — | 3 | 495 |EEE— (BH)
20 7l10| *T>av77va # 56.0 @) o) | ) H=2HT
LA avLyy B2 7194 i —%
. . TR - 45 - FRIA (SH)
, gl T ETY—2 H 6 Bx 1.(216>.0 5-4-5-2 | 40.2 2 <4+753) L
L XZH7 R BANLTITF—L L e]
R N 1EREEN ] -7~ - HPE= (SH)
4 o TIFMLT AL io4 s 1.(216).2 7-6-7-5 | 39.9 4 3()73; i
L:aA>FaM4y b B:75—La-) EviLy RTr—L
e o EBEEA 126. -9-9- . — SEFIA (SH)
507] 9 | XAHZXTY L2 M7 2 1(236)8 9-9-9-8 | 40.2 5 (4_686) R
RHLTAANAYR B:TTU-—T R (B) #Ea-—KL—a>AETr
g o8 | BE— 1:26.9 7-7-6-6 | 40.7| — 11 | 453 |EHFRF (SH)
61812 NLZXT7 77— 56.0 (3/4) o) BAIRT
LAY WY 4=y B:YrI-FLZX HET7— L4
e AAA : -3-3- — =E— (BH)
7 IRV ETY. it o4 o 1(72{:5) 3-3-3-4 |41.3 8 12(1)? %#%&
R:hiNZ— B:7—JILKYyy R TAXZXEy RFRE+E
. = 5 4t 4 | EFRNE 1:27.3 10-10-10-9 | 40.6 | — 10 | 444 |BIFFER (BH)
8|55 |F>¥177 54.0 (1 1/2) ) |AEXEA
W E XA E—7 B:vyFx—T714 KL AT 45
9 4|2/ ARYTI o4 5%_5(3)4#51 1:(227).7 6-7-8-9 |41.2| — | 9 ;1:;12) %g;g: (@)
A2 Y E—y B:TIT—3> Wi Eim
= i 4 | BURFER 1:28.2 3-4-3-7 |42.4| — 7 | 408 |MEIIEE (EH)
10/8|11| TT>>F7vtd 53.0 2 1/2) (-5) | LEER
L:ZFAT=IK B:Fr=TH- BRI RB S
3 4 4 | HKEE—MA 1:28.6 =11-11-11 411 | — 6 434 | THEESF] (&)
M| 21F¥FTIU- 54.0 ) @y | (R J P NEER
RRFAT—IK BEINITIZY HE4s
IR P = RANELRE — - - — — —  |HE$EZ (&)
w7 7V T5e 3 28% ) o |mEze
L:FNTNGZ BHCRTY X CEreEie]
® I —F—EBIERL
i3=3r= 6,10, (3,11),8,4,(2,12),9,5,1
2ol =3F= 6,10,3,(8,11),2,(4,12),9,5,1
30—7+— 6,10, (3,11),8,12,2,4,9,5,1
41—+ — 6,(8,10),3,2,12,11,9, (4,5) ,1
[ RN
B OB 6 130M 714K 6-10 140H e & 5-7 290M &R 6-8-10 340M
8 B 6 100M 6-8 180M B & 6-10 310 JEH 6-10-8 810
10 110 8-10 320 B H# 6-10 370
8 110

ABICOVWTRDTEEERROODE. TR LIV,




